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Rabi Shimon exempts him — WD YRR 929

OVERVIEW

There is a known dispute between 777 "7 and 1w»w " whether one is 211 for a
7DD 12N APRW 7OK91 (the view of °"), or not (¥'"1). mooIn explains what is the
meaning of a 3"7xXwn. Our n»dOIN will go through the many cases in 0"w, which are
depicted as a 3"7x¥&wn and show how they fit into MooIN explanation of 3">xRWA.

=99 NONY NN NINRY NINDNT PNY 19929 NINI)

It is the view of the "1 that something is called a »'">xNwn —
- NN PIYY KUN 19UNA 1Y 192598 1NIY PP TN IMNY T8 PN NININ NYIYYH

When he is doing work and he does not need this work for that same purpose,
similar to what this work was needed in the 32w, but rather for another

purpose; the reason this is called a 2"9¥xwn is -
= HYNYI NORINND (NDIR) 91 NI 19WNI 122AYWA 5PV NOININ NNPAY TNSN *D

Because the purpose for which this 728%% was done in the 2w, that purpose is
the embodiment and root of this (forbidden) work -

NN goes on to cite the many cases of 3"7¥xwn and how they fit his explanation:
= INININY DINANY 199998 191 19WNIY NNY 7298 PPN 2NNN NNIIN 99V 1NDID NN NT 29D

And according to this interpretation all the ">xxwn will be properly
understood; N50IN goes on to mention and explain the various 3"7¥Xwn, which we
find, how they fit into NM»dOIN explanation. By carrying out a corpse from the
house into the 7"717; he has no need for the corpse outside, however in the 12w,

they needed the objects which they carried out, therefore nan nxx17 is considered a

A"ouxwn. Our NBOIN continues with another case of A"YXRWnH -
- NRIM YHNY 12598 17 19UNR) WNIY T8 1N H19W XYY wn) 18

Capturing a snake in order that the snake should not bite him is a 2">xxwn, for
he does not need the snake, however in the 1ow» they needed the wnn and the

191 which they captured, so w1 7% does not have the same purpose as 7% in the 19wn -
= P9 NN RININDI TN DN 119IY PRI INPITNIN NHY NIIND RDIIN 9N

! Therefore when this same 73877 is used for a different purpose it is not 79137 %, it is not needed for the essence
of this 38?1, The word 719137, according to NN means the 798717 A for the purpose as it was in the 1own. This
explanation is necessary, for the simple meaning of 3"23¥xw» would be that he does not need [the item with which]
the 17oK%n (which) was done
2 This refers to our mwn on 2,3X.
3 See later '21 X,7p.
4 They captured the wnn to use its skin for the 19wn covering, and the 17191 for the n2on dye.
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And one who bursts an abscess® in order to remove the puss which can
damage him, but the perforation of the abscess was not made to continually

bring in air and remove the puss, but just to be rid of the puss, so -
= 598 NN ON NININDY 021517 (NIN) NI 9TV I9) NN NUYIV ’9 Yy 9N

So even though a complete opening was made in the abscess, for this perforation

is capable of bringing in air and removing puss if it would be necessary -
- NOSINDY 92390 PTIIY POV JaUNIY DINNAY T NY 0P Yan

Nevertheless bursting the abscess for the exclusive purpose of just removing the
puss is not comparable to making the entryways of the jow» for they were

made for ingress and egress; therefor 7 X*X177 XoMn 0017 is a 3"7¥XWn; it is not similar

to the purpose of building 2°’rnd in the own -
= 2919 19YNY NINT N9 NY MYYY YaN

However if he is (surgically) perforating the X071 to make an opening "X 010719

7Y ROXII9), it is similar to the 19w and he is 29977 for 2. Another case of 3"2¥xwn -
= DYONYIN DTN MIIYY 199998 11 19VN2) DAY P98 PN PPN NXNP9N)

And Killing harmful animals is also a 3"?¥Xwn for he has no need of the dead
animals, however in the j9w» they needed the hides of the rams which were

slaughtered. Another case of 3"7¥xwn in the 79871 of 7112 (building) -
= 9NN 9219 IN N NIYIY NNANY 192598 191 19U 719939 RIN 7098 139N N1 991N

And one who digs a hole, but only needs the dirt (not the hole), this too is a
A"oxxwn, for in the jown when they dug a hole the needed the hole to insert

something in the hole or they needed the hole for another purpose, but if he only

needs the dirt and not the hole, it is not similar to the 7112 noX%7 as it was in the 1own -
— 18Y D9Y TA9X 1INV NANY NN NN 1N 71995 1930 NOY U912 8ty

And a 21 who carries out a pouch so his clothes should not be soiled; this too is

considered a 3"52xwn of X7, for he does not need the pouch itself -
- 17 ANYINY TO98 PN DIPN Y9 090 TPANT 073 IN 19NPNI 1M1Y 19%9N)

And even if he is carrying this pouch to count his sightings of 72’1, or he is
counting his clean days, in which case he needs the ©°3, nevertheless he does not

5 See footnote # 3.

62,17 19P%. Previously m9oin discussed the 2x of 7% (capturing), now moon is discussing the a8 of vmw (killing).

72,3y Dvh.

8 A 21 is one who has impure emissions.

9 2,%° 97, It is not like 1owna XX where they needed the item which was carried out to use it for the Jown; however

here he does not need the 0°> outside; he only wants to be sure that his clothes are not soiled..

10°'A a1 who has one emission (or X7) is X2V only for one day; two N1°X1 he must have seven consecutive clean days

before he can become Mv; three n1™X1 he needs to bring a 71277 (besides the seven clean days) in order to become

v, He needs the 0 either to verify if he is having another 7°X7, or to be sure that he is having a clean day (a2»p2).
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need this carrying out of the 0°3 -
= N7 1N2 2957 ON NPD )0 ) 91T

For regarding counting n1°X1 or 2 p3, the 0°2 is just as well sufficient for him if

he sits in one place. He has no need to take it outside. Therefore it is considered a 2"7¥xwn.
- 12925 NANNNN NDINAN DY IN NVYUN I 930 DY ON 129 N2 I XDV NON) N

And regarding extinguishing a coal so that the public should not be harmed, or
one who wishes to spare the lamp, or the oil, or the wick which was already

singed, these two cases of *125 nax (extinguishing a fire) are considered -
= 117 12592 PNRND MYYY NION 29 191 RD 19WNIVY 191D 19299 PN

A"5xN, for in the 9w, the 7oX%1 of 9125 was only to make charcoal through this

912%2; they would burn wood until it became charcoal and then extinguished the fire -
= 1999981 NINDNY 199N 1NIYW AT 12D 49 DY PIPNN)

And there is an improvement through this "12% for now the extinguished

charcoal will be fit for the smelting process. However by n%nx 725 or 191 717 ¥ on,
there is no constructive work which is accomplished; he merely does not want the fire to
continue burning and hurt people, or destroy the lamp, etc. —

mooIn responds to an anticipated difficulty regarding m12%3: 13
- 19WUNA 50 NY 19U PINNDN NP NIY 15 31259

And there was no "12%> in the 222 in order to prevent burning of the spices -
= INTD 9N YN MAINY ROY 19N D901 D

For they were careful not to add more fire than necessary. Another case of 3">xxwn -
= N9NY NN RANY 9T 151unw %29 29010 NI ) 1¥Mad Nin Yy 9mo 199

And similarly, @'9, who requires that a 7oX% should be 7213 172593, does not

hold liable one who dismantles in order to rebuild -
- AYANA DNY NNPN 1N 1PNY NI HY 9OV I3 NN

Unless it is for instance a case where he is dismantling in order to improve it

more than it was originally -
= 164957 DY ONT PHYNYA NDTI PYNRIN 11 210 PINND 12330Y D

R am »vh.
122 X% 2v%. A person has an oil lamp burning and he is concerned either that the fire may damage the lamp ( ¥ on>
117), or that he needs the oil or the wick (7%°n973 %¥ ona ywn v ond) and does not want the fire to consume them, so
he extinguishes them. This »12°3 is considered a 3"73xwn.
13 In the 1own they would boil the P10 for nMwp or AWy 12w; perhaps occasionally they needed to extinguish the
fire in order not to overcook the "1amo. If that were true, then the n>m 2% and "1 737 v o> should also be
considered a 719877, similar to this *12°3 in the jown.
149 x5 9oy5.
15 "1 is the X1n who maintains that 2">¥Xwn is 710, while 7717 " maintains 3">xRwH is 2°°7.
16 See 9MoY 71"7 2,87 'o1n. See ‘Thinking it over’.
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For instance where the latter building is better that the first building, as is

evident in the X973 of 237 ®Y oM. Another case of 3"™53¥Rwn? -
- 119935 199598 PN MNP2T SYWIIRN NOMON 52919 D95 929 IN 110 79Y ¥915 199

And similarly one who rips in anger or breaks utensils in order to instill fear
on the people of his household; these acts of ripping (¥1?) or breaking are

considered a 71219 1929 PRYW 7K -
= ¥9PIN 927 PPIN TNNY DY NNYN JoUNIAY

For in the m1wn the ripping was for the purpose of repairing the item which

was already ripped, to make the seam straight; however here the ripping and breaking was
not for the benefit of the items broken or ripped, therefore its purpose is not similar to 7v7p in
the 1Dwn —

oI anticipates a difficulty to his explanation that for a 79%%1 to be considered 7917 73°X its

purpose needs to be similar to the purpose of that 75857 in the pwn:
- 19UNA DYDY 1D 9T NNPYW PYNY 229 S¥a XY ANNINAT 23 Y IN)

And even though that regarding X2y7 (carrying out to the 7"77), @' does not

require that it should be completely similar as it was in the Jown -
= 1979915 1IN 990 IN DV 1Y MYYY 91 S¥a ENDY

For "7 does not require regarding a hoe that one is 217 only if he takes it out in
order to make a metal plate for it, or regarding a n''® that he take it out in order

to edit it; rather one is liable to take out a < just to dig, or a n"0 just to read, and not

necessarily to improve on the n'"o1 7 -
- 2095951 19U N3N MVYYY NIPNY 15 NN NATIN RN JIYNIY %9 ¥ 9N

Even though that in the 2w, their carrying out their donation was in order to

improve them and make from them the 39w» and its utensils, so why by 7xx11 does
not w"" also require that the item be taken out in order to improve it?!

mooin responds and distinguishes between two types of N1ax77:
= 19U13 1195 1PNY NN HY RNYY TH987 RIANDN YNPI 9D NN 1N 20ophpna

By the destructive noxb»; for instance, extinguishing, dismantling, and
ripping, it is logical that it be done in order to make an improvement, as it was
in the 1own -

17 The n"2n man amends this to read, WX yama vy (instead of WX w2 »» ¥y11p). See 2,7p.
'8 The n"2n man amends this to read ov Y2 NWYY 1 %23 °Y¥2 XS 877 (instead of 0w 17 MWY? 71 *ya &Y7)
19 See the X7 on 2,7%. Occasionally the metal of the hoe is somewhat impaired and one needs to place a thin metal
plate on its edge to enable him to hoe
20 The raw materials which were donated were then improved upon to make the 2°731 1own.
2l A destructive act (9p%pn) is generally w5 on Naw, because it is not a nawn» nax?». However if the 21p%p is for the
purpose of 1'°n - making an improvement, he is 21 (under certain circumstances).
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- 11213911939 911 1Y NONY MY DITPYPNN YYUN RS
And these m»popam NMOXY) are not considered 7121% N12°X unless it is for the
sake of the person doing the 798%» (1913%), and for the sake of the item (with

which the 70KX%7 is being done (771913%); meaning improving the item with which the 7%
is being done.?

maon responds to an anticipated difficulty:??
= NN NONY DD 1N IPAT 119D NN 1IDND 1Y 99D NIT N

And the reason the X723 does not refer to it as a 79121 121% 772°7%7 7OKY»; that is

because since we require both (751371 19137) they are included in the term 1933%;

this is only regarding nm»popnia MoK -
=999 NYN spa N1 1129 09N 990 ) *2)Y YaN

However regarding carrying out a hoe and a n''®, since "1 only requires that it

be 1213, but not 19137, we know this -
= N9NY Y993 "N NY 12 NNY 279 NN 990 DL 12 MYYY 9193 A NI NIT

Since ¥"" does not require by a hoe to make a plate for it, or by a n'"'® to edit

it, so the 19137 is not included in the 751 -
— VIOV 15 J9WNI MHNT PP 2N NN MY 9D

And since the requirement of 7293% n1579% means that it must be similar to the

way it was done in the 9w, as I explained, therefore -
- 19UNA NPV 115 DV 1Y MYYY 13993 K97 9193 1NYNY 798

It was necessary for X217 to inform us regarding a =% that we do not require

taking it out in order to make a ov for it as it was in the 32w, where there was an
improvement.

nvoIN cites "W W10 on A"IRRWA:
= 99991 NPYOY NIN NIRY NY 998 79N KDY 1Y AN NNYN KD INYIT 2W9r97 y7U9)

And "9 who explained that a X">¥Xwn means a 7oxX?1 which he did not want it to
come upon him, and he does not need it, he is doing it only to remove it from him -

22 This seems (to the translator) to be the end of moon answer. Only by the 15p%Pn which should be w5 (see
footnote # 21), but nevertheless they are 27n if they are 1p°n 7% (like 7B0% n"y ¥yp, etc.), so by these noxoM
whose 2717 is somewhat of a w17°n, we require that they be exactly like the 1own so that it is 79191 19137; however by
other MoXY» (such as XY, which are not P2p%pn) it is sufficient that they are 19137 727 of the person doing the
IR,
23 mpo1n may be referencing the X3 on the 'a Ty (see p"v¥1 ,7ana MR). Since by PP we require both 791391 19135,
why do we not find anywhere in the X3 the term 791321 1917 757187 79892, The reader’s indulgence for the lack of
clarity here (and the following lines) is appreciated. This piece (until *"w19) does not appear in the w"&"7 '01n.
24 See Nynw "N 1"7 2,38 *"wA (in the mawn). "W writes; 921 197 727X APRY 79X M7 09W NR2 990X L1 IR M
NIRY7 IR 227 77 TN A7 K112 R2 RY INKIAT ADID 977X APRW 7IKH M7 1OYR 3707 KIR (7917) 7378 APRW 7IRN
VAW "M% X0 Nawnn:
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= 2509952 190 NRHYY 1I¥92T ©29 12 1T NOY NIN) NA9M IN 199W NOY YUNI 18 15
Like capturing a snake in order it should not bite him or extinguishing a coal
that the public should not be damaged by it; for his desire is that these

destructive things (the snake and the coal) should not exist at all -
- 935 NANNNN NYINN YY DN 2599 (2,85 91 85) PP 192 P93 19

And similarly in p>7% 722 792 he explained this which the X123 mentions, ‘one

who wishes to spare a wick which was already singed’ -
- A7 912595 PPN PNT DIYN NONY NDPIY NINT

That it is 3""2X since he does not need the extinguishing -
= 112 NP9 XN NN 29V NA 1N 2D NYDY DN DININT NPT RN MN BYIYN NIYIN RY ON)

For if it was never kindled he would prefer it, for since he wishes to spare it,
the more wick there is, the more pleased he is; this concludes noon citation of >"ws.

On this explanation n1vo1n asks -
= 2871555297 SWINN RN 219999 1INNNIA Y971 70DNNA 195 H13Y 7 by 9mon Nvp

There is a difficulty from the cases of dismantling for the purpose of
rebuilding as it was originally, or one who rips articles in anger to instill fear

on his family; these two cases are considered 3"9xxwn -
= 299993 XYY NIN NN NANDINY 7298 onnT

But there he needs the work and he wants that it should exist —

MooIN anticipates a possible answer:
= NONIN 2999100 TH0X8OY 1D RN NDT 91919 PPN)

And we cannot answer that 1n»n2 7P is a 2"2¥Xwn because he is not pleased

that it is necessary for him to instill fear in his household; he would rather that his
household would fear him without resorting to breaking and ripping —

mooIn rejects this solution:
= YN RO N0 XIY 151 1918927 909 XY NS N MYYY 3ONDM 9N 19 DN

For if this is indeed considered a x"93¥Xwn then in the case of a Xe7M™ ©%% in
order to make an opening he should also be a1, for his will is that there
never should be a X092 in the first place, and nevertheless the rule is that he is 2n!

25 These examples are offered by mooin (however >"wA [here] did not mention them).
26 Y950 1"7 W,
%7 See footnote # 14.
28 See footnote # 17.
2% He wants to rebuild so he needs to dismantle; he wants to instill fear so he needs to rip the clothes.
30 See footnote # 5.
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= 1A 999 N0 KXY 198927 3199905 N DY NXIVT Na DIV NP9 ¥9D 1)
And similarly one who tears a curtain in which a worm made a hole, for the
purpose of resewing it, where also his will is that the worm should never have

been there and nevertheless it is not considered a 2"2x¥xwn -
$INYIDTI WHDY P98 NIN 9P 19N XDV 1INI2 9199 152 329910 19Y

And similarly sewing up a torn garment (for which he is 2°17) he should also be
7100 according to *"wA for he wants that it should never have ripped. Rather we

must say like I explained that a 3">¥xwn is one which is not similar to the purpose for
which it was done in the jown.

SUMMARY

According to *"wn a 2"9¥Rwn is one where he would rather not have to do it.
According to NM9OIN it is a 719X which is not done for the same purpose as it was
done in the 1own. [Only by (1pn% n"v) 12P%pn do we require that it should be 191>
191391 (but not by R¥17).]

THINKING IT OVER

mooIn writes that by N112% »"y Mo he is only 21 (according to w'") if the new 1°12
is better than the old one.** However mooin learns that we drive all the NMax?» from
the 1own,** and by the 1own when they dismantled it and rebuilt it, the nRT 112
was not better than the PwX77 113; they were exactly the same! How can we
reconcile this contradiction???

LR,y vy,
32 mooin is adding that not only by a Jpn% n"y Hp%pn (like 190 2"y ¥11p) should be Mo (according to *"w1), but even
a Jpnn (like 1910) should also be Mws.
3 See footnote # 16.
34 See footnote # 1.
35 See "1 TRA XMW,
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